15. A new machine with a purchase price of $94,000, with transportation costs of $8,000, installation costs of $6,000, and special acquisition fees of $2,000, would have a cost basis of _______. 
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16. A machine with a cost of $65,000 has an estimated residual value of $5,000 and an estimated life of 5 years or 15,000 hours. It is to be depreciated by the units-of-production method.  What is the amount of depreciation for the second full year, during which the machine was used 5,000 hours? 
       [image: image5.wmf]$8,000 
       [image: image6.wmf]$20,000 
       [image: image7.wmf]$12,000 
       [image: image8.wmf]$21,667 

_1288598671.unknown

_1288598673.unknown

_1288598674.unknown

_1288598672.unknown

_1288598669.unknown

_1288598670.unknown

_1288598668.unknown

_1288598667.unknown

